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#t * B % (AXH#) BRI AL | HEIELE
X MATERRGC)| Yz s ()=
BFN) TF(N) FHA) ;‘/fi B %
2E 22,860 51,636 74,496 -3.8 6,383 -0.7
1088 14,754 28,203 42,957 -1.8 7,511 -2.1
FLIR 555 1,324 1,879 1.4 6,763 -1.9
s 371 1,028 1,399 -0.5 4,881 -3.8
AU 6,874 11,915 18,789 -0.6 6,736 -3.8
B 999 2,323 3,322 -6.4 8,460 3.8
fh = 1,137 2,125 3,262 -0.5 9,342 -0.8
AR 722 2,119 2,841 -3.3 6,818 -1.1
KB 2,651 4,380 7,031 -2.5 8,571 -2.9
i 355 497 852 -2.0 14,394 -2.0
N 506 1,167 1,673 -2.1 5,991 1.1
8 [it] 584 1,325 1,909 -5.2 8,405 2.1
10E8HT A5 DX 8,106 23,433 31,539 -6.4 4,848 0.8
AbifE 86 352 438 -36.2 3,542 -3.4
ik 599 1,797 2,396 -5.5 3,421 1.3
BAIR 3,272 10,592 13,864 -8.5 4,942 1.9
HE 550 1,400 1,950 -6.5 6,044 1.6
T 1,063 3,023 4,086 -2.9 5,051 0.3
o =] 636 1,936 2,572 -2.1 4,288 -1.8
VU =] 453 1,254 1,707 -2.0 4,768 -0.6
JUIN 1,447 3,079 4,526 -3.1 5,087 -1.5
FE5% WMEEHMBLUVUEHEEE 2
m % f’ % H B 15
£2E 5,855,996 -3.0 8,120 -1.4 30.9 30.9 234
1088 2,971,652 -0.3 10,857 -3.6 31.0 31.0 84
FLIBR 147,529 0.0 8,614 -0.5 31.0 31.0 5
fili& 88,863 0.0 7,684 -4.3 31.0 30.7 3
HUR 882,506 3.0 14,340 -7.2 31.0 31.0 25
R 264,331 -1.7 10,632 -1.2 31.0 31.0 10
S = 308,720 0.0 9,871 -1.3 31.0 31.0 8
A 190,879 -0.7 10,148 -3.7 31.0 31.0 6
KB 584,550 -4.6 10,309 -0.8 31.0 31.0 11
i 131,631 0.0 9,317 -4.0 31.0 31.0 5
= 197,957 0.0 5,063 -1.1 31.0 30.6 7
& i 174,686 0.0 9,186 -3.2 31.0 31.0 4
10H LU OME | 2,884,344 -5.7 5,301 0.1 30.9 30.9 150
AbifE 50,171 -32.5 3,092 -8.6 30.7 30.8 3
Bl 235,049 -2.0 3,487 -2.3 31.0 31.0 15
B 1,165,919 -7.8 5,877 1.2 30.9 31.0 55
HER 233,915 -14.6 5,038 11.3 30.5 30.5 14
T 402,617 0.0 5,126 -2.6 31.0 31.0 29
HE 230,782 0.8 4,779 -4.6 31.0 31.0 15
VY =] 131,565 -3.3 6,186 0.8 31.0 31.0 5
JUN 434,326 -1.2 5,301 -3.4 30.6 30.8 14




